Key

D = Good Desmin

d = Bad Desmin

R = Good Tropomyosin
r = Bad Tropomyosin
M = Good Myosin

m = Bad Myosin

T = Good Titin

t = Bad Titin

A = Good a-actinin

a = Bad a-actinin

Y = Good Myomesin
y = Bad Myomesin

Jerboa foot muscles

PO P2 P4
DRM |63% + 26% |23% + 26% | 17% + 1%
Groupl |dRM | 10% +2% | 5% £ 6% | 31% *+ 6%
Drm 0 2% = 3% 0
Group 2a rmT | 8% + 7% 7% x£7% | 23% £ 9%
P28 oMt | 1% + 3% 0 0
RmT| 4% £ 2% 1% £ 3% 17%16%
Group 2b
rMT [15% £ 18% |26% = 11% |12% = 15%
mtA 0 25% + 21% |25% = 18%
Group 3
MTa 0 0 0
mtY | 5% 4% |36% = 18% |27% = 16%
Group 4
MTy 0 0 0




